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 U.G. DEGREE EXAMINATION, APRIL 2021 &  

   Supplementary/Improvement/Arrear Examinations 

Commerce 

Allied – FINANCIAL ACCOUNTING - II 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Section A  (10  2 = 20) 

Answer all the questions. 

1. Define Average due date. 

 \μõ\› uÁøn |õÒ Áøμ¯ÖP. 

2. What is interest?                                                                                    

 Ámi GßÓõÀ GßÚ? 

3. What is legacy? 

 Legacy GßÓõÀ GßÚ? 

4. What do you meant by Donations? 

 |ßöPõøhPÒ Gß£øu £ØÔ }Âº  AÔÁx ¯õx? 

5. What do you meant by self balancing system? 

 uõ÷Ú \›Pmk® �øÓ £ØÔ }Âº  AÔÁx ¯õx? 

6. What is Creditor ledger? 

 PhÜ¢÷uõº ÷£÷μmk GßÓõÀ GßÚ? 
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7. What is Net worth method? 

 {Pμ ö\õzx�øÓ GßÓõÀ GßÚ? 

8. Who is Debtor? 

 PhÚõÎ Gß£Áº ¯õº? 

9. Define Depreciation. 

 ÷u´©õÚ® Áøμ¯ÖUP. 

10. What do you meant by obsolescence? 

 ÁÇUöPõÈÄ £ØÔ }Âº  AÔÁx ¯õx? 

 Section B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the uses of red ink interest.                                      

   ]P¨¦ ø© Ámi°ß £¯ß£õkPøÍ ÂÁ›. 

Or 

 (b) Kamal purchases a motor cycle on hire purchase 

system. The total cash price is Rs. 15,980, Payable 

Rs. 4,000 down and three installments of Rs. 6,000, 

Rs. 5,000 and Rs.2,000 at the end of first. Second 

and third year respectively. Interest is charged at 

5% pa. You are required to calculate interest paid 

by the hirer each year. 

   P©À J¸ ÷©õmhõº ø\UQøÍ ÁõhøP öPõÒ�uÀ 
�øÓ°À Áõ[QÚõº. ö©õzu öμõUP ©v¨¦ ¹. 15,980 
BS® AvÀ EhÚi £n©õP ¹. 4,000�® ‰ßÖ 
uÁøn¯õP �øÓ÷¯ ¹. 6,000, ¹. 5,000 ©ØÖ®  
¹. 2,000 ö\¾zu ÷Ási¯x. BskUS 5 \uÃu® 
Ámi PnUQh¨£k®. Áõ[Q¯Áº JÆöÁõ¸ 
BskUS® ö\¾zu ÷Ási¯ Ámi°øÚ PnUQkP. 
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12. (a) State the difference between receipts and payments 
and Income and expenditure account. 

   ö£ÖuÀ ö\¾zuÀ PnUQØS® Á¸Áõ´ ö\»ÂÚ 
PnUQØS©õÚ ÷ÁÖ£õkPÒ ¯õx? 

Or 

 (b) Subscription for the year 2010 received was  
Rs. 15,000. This includes Rs. 1,500 for the year 
2009. Subscription outstanding for the year 2010 
was Rs. 5,000. How much is credited to income and 
expenditure account for the year 2010.  

   2010 À ö£ØÓ \¢uõ ¹. 15,000. AvÀ ¹. 1,500. 2009® 
BsiØS›¯x®, 2010À öPõk£h÷Ási¯  
¹. 5,000�® Cøn¢xÒÍx. 2010 Bsiß Á¸Áõ´ 
ö\»ÂÚ PnUQÀ GÆÁÍÄ ÁμÄ øÁUP¨£k® GÚ 
PshÔP. 

13. (a) Discuss the uses of general ledger. 

   ö£õx ÷£÷μmiß £¯ß£õkPÒ ¯õøÁ? 

Or 

 (b) Put out the procedure of creditor ledger. 

   PhÚõÎPÒ ÷£÷μk u¯õ›US® �øÓPøÍ GÊxP. 

14. (a) Explain the Limitations of single entry. 

   JØøÓ £vÄ �øÓ°ß SøÓ£õkPøÍ ÂÁ›. 

Or 

 (b) Calculate the capital at the beginning of the year 

 Rs. 

Capital at the end of the year           35,000

Drawings during the year                 5,000

Capital introduced during the year  2,500

Profit during the year                        10,000
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   BsiØS›¯ öuõhUP �uø» PshÔP. 

 ¹. 

Bsk CÖv �uÀ            35,000

CÆÁõskUPõÚ Gk¨¦PÒ 5,000

CÆÁõsk Dmh �uÀ 2,500

CÆÁõskUPõÚ C»õ£® 10,000

15. (a) Discuss the various cause of depreciation. 

   ÷u´©õÚzvØPõÚ £À÷ÁÖ Põμn[PøÍ ÂÁõv. 

Or 

 (b) A machine is purchased for Rs. 12,500. The useful 
life is 10 years and at the end of the life the scrap 
value would be Rs. 250 Find out the amount and the 
rate of depreciation. 

   J¸ C¯¢vμ® ¹.12,500 US Áõ[P¨£mhx. Auß 
ÁõÌÄ |õÒ 10 BskPÒ. Aaö\õzvß GÔ©v¨¦  
¹. 250 GÚU öPõsk ÷u´©õÚ öuõøP ©ØÖ® 
÷u´©õÚ ÂQzuøu PnUQkP.  

 Section C  (3  10 = 30) 

Answer any three questions. 

16. Describe the advantages of Product method. 

 EØ£zv �øÓ°ß |ßø©PÒ ÂÁ›. 

17. From the ultra club's receipt and Payment Account for 
2017, Prepare Income and Expenditure Account. 

Receipts Rs. Payments Rs. 

To Balance b/d 1,200 By Investments 10,000 

To Subscriptions 15,300 By Sports Equipment 3,500 

To Sale of Newspaper 300 By Rent 1,000 

To Donation for buildings 10,100 By cost of entertainment 10,100 

To Sale of Furniture 600 By Mis Expenses 800 

  By Balance c/d 2,100 

 27,500  27,500 
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 Investments consisted of 4% Govt. loan and were 

purchased on 1.1.2017. subscription includes Rs. 700 for 

2016 and Rs. 200 for 2018. Subscription for 2017 still 

receivable were Rs.l,500 but of these Rs. 200 were 

considered doubtful.  

 AÀmμõ QÍõ¤ß 2017 B® BskUPõÚ ö£ÖuÀ ö\¾zuÀ 

PnUQ¼¸¢x Á¸Áõ´ ö\»ÂÚ PnUøP u¯õ›UP. 

ö£ÖuÀPÒ ¹. ö\¾zuÀPÒ ¹. 

C¸¨¦ Q/öPõ 1,200 �u½kPÒ 10,000 

\¢uõ 15,300 ÂøÍ¯õmk \õuõÚ[PÒ 3,500 

ö\´vzuõÒ ÂØÓx 300 ÁõhøP 1,000 

PmihzvØPõÚ |ßöPõøh 10,100 ÷PÎUøP ö\»Ä 10,100 

AøÓP»ß ÂØÓx 600 ]À»øÓ ö\»ÄPÒ  800 

  C¸¨¦ Q/C 2,100 

 27,500  27,500 

 1.1.2017À Áõ[Q¯ 4 \uÃu Aμ_ Phß �u½kPÍõP EÒÍx. 

CÆÁõskUPõÚ \¢uõÂÀ 2016ØS›¯x ¹. 700® ©ØÖ® 

2018ØS›¯x ¹. 200 BS®. 2017US›¯ ¹. 1,500UPõÚ 

\¢uõ CxÁøμ ö£Ó£hÂÀø» CvÀ ¹. 200 

\¢÷uPzvØS›¯uõP P¸u¨£kQÓx. 

18. Describe the limitations of self balancing system. 

 uõ÷Ú \›Pmk® �øÓ°ß SøÓ£õkPøÍ ÂÁ›. 
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19. From the following facts you are required to calculate 

total sales 

 Rs. 

Bills Receivable (Opening) 23,400

Debtors (Opening) 92,400

Bills Receivable enchased 62,700

Cash receivable from Debtors 2,10,000

Bad debts                                   8,400

Return inward                           26,100

Bills receivable dishonored       5,400

Bills receivable (closing)           18,000

Debtors (Closing)                      76,500

Cash sales                                 1,22,700

¤ßÁ¸® ÂÁμ[PÎ¼¸¢x ö©õzu ÂØ£øÚø¯ }Âº 
PshÔP.  

 ¹. 

ö£ÖÁuØS›¯ ©õØÖa^mkPÒ(öuõhUP®) 23,400

PhÚõÎ (öuõhUP®) 92,400

ö£õÖÁuØS›¯ ©õØÖ^mk £n©õUP¨£mhx 62,700

PhÚõÎ°hª¸¢x ö£Ó ÷Ási¯ öμõUP®     2,10,000

ÁμõhUPhß 8,400

EÒv¸¨£®                             26,100

AÁ©vUP¨£mh ö£ÖÁuØS›¯ ©õØÖa ^mk  5,400

ö£ÖÁuØS›¯ ©õØÖa^mkPÒ (CÖv) 18,000

PhÚõÎ (CÖv) 76,500

öμõUP ÂØ£øÚ 1,22,700
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20. A second had machine was purchased on 1.1.2014 for  

Rs. 40,000 and repair charges amounted to Rs. 6,000. It 

was installed at a cost of Rs. 4,000. On 1st July, 2015 

another machine was purchased for Rs. 26,000. On 1st 

July 2016 the first machine was sold for Rs. 30,000 and 

on the same date a new machine was bought for  

Rs. 25,000. Prepare Machinery Account for 3 years 

assuming the rate of depreciation is 10% P.a. under 

Straight Line  method     and the amounts are closed on  

every  31st     December. 

1.1.2014 À ¹. 40,000zvØS £øÇ¯ C¯¢vμ® Áõ[Q¯x 
©ØÖ® ¹. 6,000 £Ê£õº¨¦ ö\»ÂØS® ¹. 4,000 
ö£õ¸zxu¾US® ö\»Âh¨£mhx. 01 áúø» 2015 AßÖ  
¹. 26,000zvØS ©ØöÓõ¸ C¯¢vμ® Áõ[P¨£mhx.01 
áúø» 2016À �u»ÁõuõP Áõ[P¨£mh C¯¢vμ® ¹. 
30,000zvØS ÂØUP¨£mhx . A÷u |õÒ ¹. 25,000 ¦v¯ 
C¯¢vμ® Áõ[Q¯x. 10 \uÃu ÷|º÷Põmk �øÓ ÷u´©õÚ 
�øÓ°À JÆöÁõ¸ Bsk® 31 i\®£›À PnUS 
�i¨£uõP öPõsk ‰ßÖ BskPÐUS›¯ C¯¢vμ 
PnUøP u¯õ›UP.  

 

 

 

———————— 


